S % 2a3b - 6a2b? + 2b° O A 2+ o] ZEQI ¢

@ 2ab @ 2a%b @Qb @ 2a

2a3b — 6a’b? + 2b3 = 2b(a® - 3a®b + b*) °| B2
2b °|tt.




2.  3a’b-ab 9 257} ofd A-L9

@ 1 @ a ® b @ G)arp

3a?b — ab = ab(3a - 1) °| 22 3ab? — ab 2] 150l a’b+= §lT}.
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O x*-16x+64 @ 4x%2 —4x+1
1

® x2 + 8xy + 16y @x2+§x+l

® 2x% — 4xy + 2y?

~&B

@ x* - 16x+ 64 = (x - 8)?
@ 4x? —4x+1=(2x-1)?
® x2 + 8xy + 16y? = (x + 4y)?
® 2x2 - 4xy + 2y% = 2(x — y)?
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4x% + Ox + 16 ©] &HAFA0] E o, o]

@® (2x+1)? @ (2x+2)?
@) (2x+ 2y ® (2x5)?

(2x+4)% = 4x® + 16x + 16




x> —6x+A=(x+B)? <, AB 9] 3t2?

@ -36 @—27 ® 27 @ 36 ® 216

(x+ B)? =x?+2BxB? = x> - 6x+ A
2B=-6, B=-3
B?=(-3)?=9=4
~AB=9x(-3) =27
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O 24 @ 12 @ +10 @ +12 @124

9x2 + Ax + 16 = (3x £ 4)% = 9x? + 24x + 16
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o124 9x2 — 124+ S SFAAIBAIOR AW (3x-p)? o]}, o],

a—-2b 9] = FsHd?

®4 @-2 @ @ 2 ® 4

9x2 —12x+a= (3x)2-2-3x-2+22 = (3x-2)2
Wetd a= 4, b=2 0l
La—-2b=4-2x2=0
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x o] tHgt o]2HA] (3x+3+a)(3x+2a—5) 7F A FA 0] El= A4

a o] #4427

@ 2 @ 4 ® 6 @)8 ® 10
34+a=2a-5

a=2_8




11. Vx=a-29 M, Vx-4a+12- Vx+ 2a -3 & 719]

2<a<4)
D)-2a+5 @ 2a-5 ® 5
@ -2a-3 ® —2a+3

o

ShH? (¢

Vi=a-29 FHAES AFNIH x=a*-4a+4
Va2 —8a+ 16 — Va2 —2a + 1

= (a-4)?%- y/(a-1)?

—la—4-ja-1|

=-a+4-a+1=-2a+5
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12. o] 81 + 12 Q15E5lotH?

@ (x-9)? @ (x+9)?
@) (x-9)(x+9) @ —(x+9)(x-9)

‘ Bl +x2=x2-81=x2-92=(x+9)(x-9)
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xX2—dx—-A=

® -36

B

@ -54 @36

@ 54

(x+5)(x-B) & 1525 Hrh. A-B 9| g& 513

® 64

X2 —4dx -

B=9
. A-B=
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= (x+5)(x—B)
= x> - Bx+5x—5B
=x2+ (5-B)x-5B
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@ ab+1)+(b+1)=(a+1)(b+1)

@ (x4+y?-2(x+y)+1=(x+y-1)
@ PHdx+4-y =(x+y+2)(x-y+2)
@ (x+2y)% - (3x—2y)% = —8x(x—2y)

@) (x-3) +2(x-3) -8 = (x+ 1)(x~06)

~&B

® x-3=X &1 5IH
(x=3)2+2(x-3)-8
=X?2+2X-8
=X+4)(X-2)
=(x-34+4)(x-3-2)
=(x+1)(x-5)
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@ 3x-9 @x—3

P +4x-21=(x-3)(x+7)
3x2 —5x—12 = (x-3) (3x + 4)
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6x2+5x—a=(2x+b)(3x+7) 7t HEZ

© -24 @ -18 ® -10

B

6x% +5x—a = (2x+ b)(3x + 7)
= 6x? + 14x + 3bx + 7b
=6x2+ (14 +3b)x + 7h
14+3b=5, Tbh=-a,b=-3,a=21
ca-b=21-(-3)=24
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B

2x% + 10xy + my? = (x + 3y)(2x + ky)
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@ (x-5)(x+2) @ (x-3)(x+6)
® (x+5)(x-2) @ (x-1)(x+10)
® (x-5)(x-2)
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x% - 3x— 18 A x 9] A4 -3 & 9| B3ttt
o7 o] &AL x2 - 3x - 10 = (x — 5)(x + 2)
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@ 2x+1 @ 3x+5
® 5x+10 @6x+6

® 6x+20

2x2 +5x+2=(2x+1)(x +2)

wrabA S8 o] Aol 2{(2x + 1) + (x + 2)} = 6x + 6 ]t}
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D 3a-1 @ 5a-1 @6a—2
@ 9a-2 ® 12a-4

2a> +a-6=(a+2)(2a-3)°|B2

ME)=2a-3

L (BH9 Zol) =(a+2+2a-3)x2
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T A X2 +ax—6 3 3x%-5x+b 9 FFAAFH (x-2) D W, a+b
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®-2 @ ® 0 @ 1

® 2

~&B

(1) ¥ +ax-6=(x-2)(x+a)
=x? + (@ = 2) x - 2a °l|A]
-2=a, 2a=-6
a=3,a=a-2=1
(ii) 3x? =bx+b = (x—2)(3x+p)
=3x2+ (B-6)x—28 oA
B-6=-5p=1
b=-28=-2
Lat+tb=1+(-2)=-1
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Aozt 52em 9 B2 AFs| 7 AN et e Polsh

St bem 1 AAAY = HE WHEL o] W, = A
&l 109 cm? A o, Holo] A-E F5HAH? (Ha>b>0)
@ 7cm? @ 13cm? ® 25cm?

@ 49 cm? ®)91 cm?

B

4a+4b="52°B2 g+ b=13

a’+b? =109

(a+ b)? - 2ab = a* + b*

109 = 169 — 2ab

s.ab =30

(a-b)? = (a+b)? —4ab = 169 — 120 = 49
a-b>0,a-b="7
.a’>-b*=(a+b)(a-b)=13x7=091




